
Division: Larger Numbers (H - set 5)
DIVISION WITH -10 TO 10

Name:

Time: Score: /

121) 29355÷ (−3) = 131) 28566÷ 9 =

122) 9954÷ 1 = 132) −66472÷ 7 =

123) −15210÷ (−3) = 133) 9780÷ 3 =

124) 672÷ 8 = 134) −16938÷ (−2) =

125) −9104÷ (−2) = 135) −39040÷ 10 =

126) −4552÷ 4 = 136) 3918÷ 3 =

127) −21894÷ (−6) = 137) 6148÷ 2 =

128) −55848÷ (−6) = 138) 16825÷ 5 =

129) 48440÷ (−5) = 139) 52944÷ 8 =

130) 32964÷ (−6) = 140) −9952÷ 2 =

Mathematics: Division - Level 4 - Horizontal - Set 5 8 © workulum.com

https://www.workulum.com

